
Name: Four digit subtraction (Skill 63)

Four digit subtraction

1) 5387 - 1905 = 

2) 8460 - 7647 = 

3) 9308 - 1783 = 

4) 8702 - 6777 = 

5) 9999 - 746 = 

6) 6375 - 5868 = 

7) 6942 - 6118 = 

8) 7481 - 4849 = 

9) 3183 - 384 = 

10) 4589 - 4315 = 

11) 3419 - 2266 = 

12) 5748 - 661 = 

13) 1153 - 527 = 

14) 2871 - 1561 = 

15) 5967 - 4959 = 

16) 2468 - 918 = 

17) 8956 - 601 = 

18) 5929 - 3629 = 

19) 4324 - 457 = 

20) 8941 - 4593 = 

Answers, fold under: Mark your work when you have finished.

1) 3482

2) 813

3) 7525

4) 1925

5) 9253

6) 507

7) 824

8) 2632

9) 2799

10) 274

11) 1153

12) 5087

13) 626

14) 1310

15) 1008

16) 1550

17) 8355

18) 2300

19) 3867

20) 4348
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